Exposeq movin
Parts can cayge
Severe /‘njury

Lock oyr

PO
before remgw"wER
Uarg 9

GEUAR

U.S. Patent Number 6,318,545 B1

DOUGLAS Q)

CONVEYING INNOVATION

For more information on Douglas
visit us at: www.douglasmanufacturing.com
Customer Service: 1-800-884-0064

Douglas Manufacturing Co., Inc.
300 Industrial Park Drive
Pell City, Alabama 35125

Tel: (205) 884-1200
FAX: (205) 884-1206

IMPORTANT: Never operate, adjust, or install equip-
ment on a moving conveyor. Always follow lock out and
tag out procedures when working on conveyor systems.

G310604105

INSTALLATION,

OPERATION, &

MAINTENANGE
MANUAL

DOUGLAS @

CONVEYING INNOVATION

IMPORTANT: Never operate, adjust, or install equip-
ment on a moving conveyor. Always follow lock out and
tag out procedures when working on conveyor systems.



IMPORTANT:

Designed to be installed with a 4" maximum gap between the
guard and the belt. ALWAYS FOLLOW OSHA, STATE, AND

OWNER REQUIRED SAFETY GUIDELINES / REGULATIONS ég
DURING THE INSTALLATION OR OPERATION OF A %g?
CONVEYOR SYSTEM. eI
Douglas Manufacturing Co., Inc. strongly recommends that any @Zﬁ
safety program be supplemented by the use of ASME B20.1 5%2
2009 that refers to conveyor systems Never operate, adjust, §§§
or install equipment on a moving conveyor. o 22
iz N
Always follow lock out and tag out procedures when working on z 2 %%é 2%
conveyor systems. Personnel who work on or around conveyor o o %E" g@é Z0
systems must be safety trained and familiar with conveyor z || E 5 I3 524 &g
systems. Failure to follow the recommendations in this manual BE | 3% o % Pt
. . L . g 22 2 2 03
may result in serious injury or death. No idler guard can protect 02l 2 e ° z°
against potential danger in all situations or against all hazards. Y - -
o=} -
The Guardian® is designed to help minimize the potential for el ¢ <3 .
danger but cannot guarantee protection in all situations or o5 % w0
applications. If you have any questions or need assistance ) r < é z Q
please contact us at (205) 884-1200 or FAX (205) 884-1206. o] u 3 - £ g 8 &
v B |58 & &8
2 | | T =g
33 5Q
= Q
1. Review Parts 5 - X
% % ~
. ) . o g 1) |
The following components are provided in each Guardian L1
Kit. Please make sure you have all the parts required h o “ P
. . 5 '—% — [
for installation. - A B <<
8 | $6 |5z I
< T
(] | T
Part No. Description Material o -
c 0
o . Yellow 1/8” = 0 NN NSNS NN
1 1 | RRG-**UC3 | Guardian Molded Body Thick UHMW % % ] ] o ] B g o
2 2 RRG-S3B Guardian Mounting Hvy. Gauge s o
Bracket Steel o ololololololole
. . . Yellow 1/8” === ===
3 2 RRG-U3S | Guardian Side Shield Thick UHMW -1 n EEEREEREEIE
- - — DO~ N[00
Hex Hd Bolt 5/16"- Zinc Plated 2 N[O <O [0O| O~
4 4 RRG-TBS ”
18UNC x 1” Lg. Steel S
Zinc Plated < NEARIE R
5 4 RRG-TBS Flat Washer, 5/16” Steel o
Hex Lock Nut, 5/16”- | Zinc Plated ) Jll ©| 0| S| R[M© |+
6 | 4 | RRG-TBS 18UNG Steel 5 Ell G 6| o | 0| |||
- 0 - =
2 2 RRG-TBS Ad]us"fablle Clelns Pin Zinc Plated = % ] o<t | o cof oo <
3/8” Dia. x 1” Lg. Steel [T \—Nmmvvmco
8 4 RRG-TBS Halrplr S_afety .C|Ip, Zinc Plated E
1/8” Dia. Wire Steel : O N |ololon|on
: EY) . 222221222
9 2 RRG-TBS Cotter Pin, 1/8 Dia.x | Zinc Plated E 2|35/5|8|2(2|3
1-1/2" Lg. Steel 5 IR IR
=l O|0|0|10|0|0|10|0
é’ KX X XXX
** DENOTES BELT WIDTH oc B o [ O S - |
ltems 7 and 8 are optional - use for easy removal and clean-out.
DOUGLAS D) 1-800-884-0064

2 CONVEYING INNOVATION



5. Optional Reinforcing of
54" and 60” Guardians

G3 Guardians for Belt Widths 54" and 60" are now provided
with Support Rails as shown below. Ensure that each Rail is
bolted to the UHMW body as required.

BOTH SIDES OF G* GUARD (DESIGNED
TO FULLY SUPPORT THE BODY UNDER

STEEL FLAT BAR PROVIDED ON
WIDE CONVEYOR BELTS)

moving conveyor. Always follow lock out and tag out|
procedures when working on conveyor systems.

Never operate, adjust, or install equipment on a

Wen
w2
o
<$Q
me'—
irp e
Zxz
=4
\nZO
3560
(2’4
<r<
o0
L =08
— APy
o DO%
= <gm

Premium Return Roll Guard

GUAR

U.S. Patent Number 6,318,545 B1

DOUGLAS @

6 CONVEYING INNOVATION

2. Install the Guardian?®

The mounting brackets have slotted holes that prevent the
necessity of removing the return idler bolts. Once the bolts are
loosened as indicated above, slide the G2 bracket into the gap
between the return idler bracket and conveyor frame. Tighten
the bolts securely. Note the direction of belt travel in the figure
below. Attach the Guardian® UHMW body to the approach side
of the bracket first. Maintain a 4" maximum gap between the
belt and upper lip of the G2 body. Use the supplied hex head
fasteners & tighten securely. Adjustable clevis pins and hairpin
cotter pins are optionally provided for fastening the other side.
(For bi-directional belt conveyors, use bolts as required by your
local, state, or federal safety regulator’s requirements.)

CAUTION: Install the mounting brackets one at a time. Doing so
will insure that the idler is secure and will not drop.

—LOOSEN BOLTS TO ALLOW
R[)LER TO DROP 1/2" APPROX.
\

SLIDE A GUARDIAN®

MTG. BRACKET UNDER

| / THE RETURN IDLER BRACKET
% ON EACH SIDE OF CONVEYOR
4

~—BELTTRAVEL
4

T t

—

INSTALL GUARDIAN“j i
TO MAINTAIN A

GAP OF 1/4" MAX.

/ \ USE HEX HEAD SCREWS
) \ TO MOUNT THE GUARDIAN®

ON BELT APPROACH SIDE
/ = (5" REF.

USE ADJUSTABLE CLEVIS PINS
TO ATTACH GUARDIAN® TO
BELT DEPARTURE SIDE %OR USE
PROVIDED HEX HEAD SCREWS)

=—BELT TRAVEL

& L 414 ReF.

R
N

1-800-884-0064



3. Install Side Shields

The 1/8" thick yellow UHMW Side Shields are designed
to easily install over the special “hooks” on the Guardian?
Mounting Bracket. See the figures below as an example. The
Side Shields are retained firmly to prevent accidental loss from
normal use and conveyor vibration.

Supplied in the fastener kit are two straight cotter pins. These
can be used optionally to positively lock the Side Shield in place
as shown below.

DOUGLAS @

4 CONVEYING INNOVATION

4. Maintenance

Always follow lock out and tag out procedures when working on
conveyor systems. Personnel who work on or around conveyor
systems must be safety trained to do so.

Maintenance is a snap with the Guardian® Return Roll Guard
System. To clean out residual debris or to replace a fallen
return roll simply remove the hairpin cotter pins and swing the
Guardian® body away and down.

Inspect the Guardian® assembly carefully and look for damaged
or deteriorated parts. These should be replaced as soon as
possible. Failure to do so may result in serious injury or death.

~—BELT TRAVEL

ADJ. CLEVIS PINS &f

HAIRPIN COTTER PINS
OR 5/16" BOLTS

5/16-18 x 1" LG.
BOLT, WASHER, & NUT

RETURN IDLER WITH
4-1/2" DROP BRACKETS

Note: End
Covers have
been removed
for clarity!

DOUGLAS GUARDIAN'—"
YELLOW UHMW BODY

The Douglas Guardian® Side Shields are designed to allow
visual inspection of the return roll assembly without removing
any parts! The Side Shield is made from 100% flexible UHMW
and can be left as shown or tucked in at the bottom edge. A
tab is provided on the bottom of each Side Shield and can be
adjusted to engage with the bottom slot on the

Guardian® UHMW Body for retention, if desired. The Guardian3
Return Roll Guard system is designed to prevent appendages
from being caught in the idler/belt contact point or any other
catch points and still allow most material and debris to pass
through. The system should be inspected regularly for material
build-up that would hinder idler performance.

~@
G

Sa®

LARGE PORT FOR REGREASABLE IDLERS

1-800-884-0064



